MERCRUISER [350 MAG. ALPHA (4 BEL.] GM 350%-31337]
Serial Mbr Bange: k001527 THRL 0K933333 ()

T

¥ STARTER MOTOR AND ALTERMATOR

Ref |Clazs|Part Description Qt Comment
2 10 B05343 2|SCREW [3/8-16 % 4-3/81N.] 2
3 11 B0E949|MUT [M8-1.5) 1
4 11 40021 1|MUT [M5-0.8) 1
5 13 26996 | LOCKWASHER [#10) 1
A a5 73655 BOOTANSULATOR 1
7 B07ES2T |ALTERMATOR ASSEMBLY 1 [SEE "ALTERMATOR" FOR BRE:
a2 12 96457 '"WASHER-PHEMOLIC 1
9 13 26996 | LOCKMWAASHER [#10) 1
10 11 73389 | MUT [#10-24) 1
11 13 26992 | LOCKAWASHER [1./4 1N 1
12 11 94330 NUT [1./4-20) 1
13 2077507 |BRACE 1
14 10 98261 |SCREW [3/8-16 % 3/4 M) 1
15 13 35048 | LOCKWASHER [3/8 IM.) 1
16 10 29158 | 5CREW AMD LOCKWASHER [5/1(1
17 BE0370T |BRACKET-ALTERMATOR/POWEF 1
18 16 BE0102|STUD 3
19 10 BEVA3|SCREW [3/8-24 % 3-1/81N) 1
20 11 2361 | MUT [3/8-24) 1
21 BO77E7T |BRACKET-IDLER 1
22 10 98261 |SCREW [3/8-16 % 3/4 M) 1
23 11 29250 MUT [5/16-24) 1
24 43 818381 2|PIMNION STUD 1
25 183807 |BUSHING 1
26 B07757T |FULLEY 1
27 11 B17E18|MUT [7/16-20) 1




